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A s31
&

HE: YA AW B (SPHYLA/SY - 5E)
ol SYEAI|Y 2R EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 2LHoIH 4,000 4,000 0
OsEssgeds S(H8) 4,000
308 AXIHSOIA 19,000 79,920 260,920
18 SIS0t HAS A 19,000 20,920 1,920
OJIEEIH A= (HE) 19,000
403 AXIEHHSAH=201d 3,120,000 3,116,000 4,000
01 AXISHA=2E2 X 3,120,000 3,116,000 4,000
ORIISHE(LISR) IBAIL 21228 L
NER=F(TE) 300,000
Odld BHOAAMZE(THAT) MZE - IISAIE
=(m8) 450,000
OLZFE 2Xl ME - IHSAE AH(HEH 380,000
ONS ZSAMS(MAR) M= - IISAIE 2
=(dg) 250,000
OOHEA0IT (At 2R!) HIE - JtS & HME
A& F=(EE) 225,000
OXsMS(TA) NBE HARS A +
=(dg) 810,000
OINSE AMEHH| XtS3H MAHHA P2
=(&g) 80,000
OXNg=sg NIt SRIES ML - IIBA
& AR(E) 225,000
O=Es8=884ds JIsE22(HE) 400,000
SIEMASHAIY (HEALY) 130,000 600,000 470,000
403 AXIEHMSA=01d 130,000 140,000 10,000
01 HAIHHA 22 xR 130,000 140,000 10,000
O ZZEC AT SHAI(HE 130,000
skols2e] XA 4,080 3,400 680
202 04| 4,080 3,400 680
01 SLHoIH 4,080 3,400 680
osldg € 5t & g2 4,080
ML= (FA0) 2E2 10,000 10,000 0
310 =2/01& 10,000 10,000
2 =K2s=3 10,000 10,000
O=HNHAASsHIIFR(FA0) 23S 10,000
sAolszel X (21) 1,055,087 1,331,731 N276,644
Jl 1,065,087
308 XXM SOl 1,065,087 1,331,731 A276,644
Jl 1,065,087
01 XN EES 1,065,087 1,331,731 A276,644
osXols2el XA 1,065,087
7l 1,065,087
SEILAIet a2 & ey 37,377,822 39,126,476 1,748,654
= 585,100
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A s
HE: Y=Y AW B (SPHYLA/SY - 5E)
©l: =ZJILXIS 4o & gat EER=E)
SA - BE - C9(3H) - KA - BES Ol &t e B2
< 36,822,722
s0Hge=Y XA 33,180,000 34,608,000 21,428,000
301 LEBEF 33,180,000 34,608,000 21,428,000
02 NBIEZESGS(HAAS, KLTHA) 33,180,000 0 33,180,000
o=l X2 33,180,000
Hed=sgel =4 248,772 151,362 97,410
202 04t 3,672 3,060 612
01 2LHO LI 3,672 3,060 612
O04d=sgo |4 JRFA 3,672
307 QI2Hol A 56,000 56,000
02 QIRHH LA E X 20,000 20,000
ogdgd =& S0/H 012 XA 20,000
04 QIZHHALAIRI E & 36,000 0 36,000
osdsgele ¢ 36,000
308 AXIHMISO0I& 149,410 135,702 13,708
01 AXIEHBLEES 149,410 135,702 13,708
OWd=goldH 22 XI& 32,000
O04d=sgol HgEs K& 107,100
SEE of&a 2z N 10,310
403 XX SHHSA=01H 39,690 12,600 27,090
01 AR AH=2E £ 39,690 12,600 27,090
Osgg stEA X 39,690
Hd=sgel 32X 660,400 924,000 A263,600
308 AXIHMSO0I& 660,400 924,000 A263,600
01 AUXIEHBLAEES 660,400 924,000 A263,600
OWd=He =SZ2X&A 660,400
H&sgel SXH2H 1,962,000 2,112,000 A 150,000
301 LetEAEZ 1,962,000 2,112,000 A 150,000
02 ASIERH LGS (HAAS, RYTHR) 1,962,000 0 1,962,000
Od=el =XH:H 1,962,000
s& EsH 43t 430,000 75,600 354,400
308 KXIHMSOIH 30,000 75,600 245,600
01 AXSHHEAEEXS 30,000 75,600 245,600
Osz0ts ss=4 NE 30,000
403 XIS MS 201 400,000 400,000
01 Xt AHE22 = 400,000 400,000
Os&lE 24 A8 X3 200,000
sE02 NEE =X AE X3 200,000
NG s galdl XA 121,050 122,685 21,635
308 RXIHMSOIH 121,050 122,685 21,635
08 WFI|I 202X 121,050 122,685 A1,635
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2N ==
B YRS WA BU(SHHLM/5Y - 5E)
Bl ST &2 2 gt (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| oxigsn 24 g 121,050
2ol SUFEX X 164,000 164,039 A3
308 KIXIEHRISOIE 164,000 164,039 A3
01 MXSHALHED 164,000 164,039 A39
S0l SUEEN X 164,000
SE5H g 10,000 60,000 50,000
308 KIXIEHRISOI® 10,000 60,000 50,000
IPCEREREES 10,000 60,000 50,000
00l0/Y E50IS HBEH A 10,000
== S AbIA #83 N(2D) 601,600 590,000 11,600
2 555,100
= 46,500
307 QI2H0| & 165,000 160,000 5,000
2 108,500
= 46,500
EIEE POV EES 155,000 160,000 5,000
0NB=E T2 15,000
2 108,500
= 46,500
308 KIXIEHRISO1& 446,600 420,000 26,600
. 448,600
01 MXSHALHE 448,600 420,000 26,600
OsESE2sE X8 308,000
2 308,000
OsEF0IME SIS UK 138,600
2 138,600
M=ol 84 5,327,824 4,676,266 651,558
= 3,989, 129
= 1,388,695
SAICH Hzrsl 3,600 43,000 39,400
202 01b| 3,600 3,000 600
01 ZLH0iH 3,600 3,000 600
Os0IEH 8Y Y2ET 3,600
sAICH| BT 150,000 200,000 50,000
307 212¢01 ™ 150,000 200,000 50,000
04 SIFAAZ R 150,000 200,000 50,000
ozl g5a 150,000
Hdse0 84 - X 489,600 502,200 A 12,600
308 KIXIEHRISO0IE 489,600 489,600 0
PR EE == 489,600 489,600 0
o=l |4 X 186,000
OFUELl BUNZ 012N N 308,600
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HE: URSY AW BA(SYHYSM/SY - 5E)
el dEsge =4 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
sg 2IFENNE 24 120,000 120,000
308 AHXIEMSOIH 120,000 120,000
18 SIS0t & A AS A 120,000 120,000
O=g A BN UE 23 120,000
SOOIAEUE 28 K& (=1) 736,694 736,694 0
= 491,129
= 245,565
307 @I2t01 & 736,694 736,694 0
= 491,129
= 245,565
02 LB HAHE L 736,694 736,694 0
OsY0toIAEUS 28 XA 736,694
= 491,129
=S 245,565
SHILAHLE (ALEXY)(=1) 12,000 48,000 /36,000
= 12,000
308 XtXIEMSO0IH 12,000 48,000 236,000
= 12,000
01 HAHHBSEEXS 12,000 48,000 236,000
O=sd3gALE A& 12,000
= 12,000
sYHEtn Asd XNA(=20) 500,000 0 500,000
= 500,000
308 XXM SOIA 500,000 0 500,000
= 500,000
08 WEJ|20UStE2x 500,000 0 500,000
O=sgHsty Asd XY 500,000
= 500,000
FEsgel Is3F N (AE)(=1) 18,000 26,000 8,000
= 9,000
= 9,000
201 etz 3| 12,000 20,000 /8,000
= 6,000
= 6,000
01 At22t2l] 12,000 20,000 28,000
OoFd=sYel de - EIl =8 S 12,000
= 6,000
=S 6,000
202 04l 6,000 6,000 0
= 3,000
< 3,000
01 2L AL 6,000 6,000 0
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2N =8
o

HE: U= AW BN (SPHYLA/SY - 5E)
=Rl ADIE sS4 JIEE = EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 150,000
403 AXIEHMSAH=201H 6,794,000 0 6,794,000
= 6,020,000
= 774,000
01 AXISHHA2EE 6,794,000 0 6,794,000
OADIEY s =db|gt 215 6,794,000
= 6,020,000
=S 774,000
JElHole A&kl £4(2D) 4,175,000 2,701,800 1,473,200
= 3,699,000
< 476,000
403 MR EHHSAHE01H 4,175,000 2,701,800 1,473,200
= 3,699,000
= 476,000
01 XM =2 E 4,175,000 2,701,800 1,473,200
OJEH0IL Bl BHA X4 4,175,000
= 3,699,000
= 476,000
Jeldiole a4 10,000 20,000 10,000
308 AHXIEMSOIE 10,000 20,000 10,000
01 HXEHH B EES 10,000 20,000 10,000
OeH0I2 JIgsd &8st K& 10,000
JJElHiole d=01g S|4 101,500 0 101,500
201 fet=3| 4,000 0 4,000
01 AF22t2ltl 4,000 0 4,000
OJ2H0I2 ?3s 23 4,000
202 04| 3,000 0 3,000
01 =LHOLI 3,000 0 3,000
OJgH0I2 dE0|Y JRFA 3,000
308 XHXIEMSOIH 94,500 0 94,500
01 HXEHH B E2ES 94,500 0 94,500
OJgH0I2 d=D1Y sS4 94,500
JEsENY Hs(sHllLrb/5 - &) 41,590,719 42,068,071 N4T77,352
= 3,263,290
[ 34,106,000
Jl 96,972
s 4,124,457
s - s& 29 243 393,100 1,806,700 A1,413,600
HAsHE 2K 93,100 93,100 0
307 elzto| & 93,100 93,100 0
02 2B YA R E X 93,100 93,100 0
OFIsHE A FFSSNE 93,100
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A s31
&

B AASENY BRSNS/ 5Y - 5E)
Chel: sE22I|e &3 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2

| osznzsgs Ax Z=Z02 K 8,400

HEotseld us X(dzdsh)(=1) 25,500 25,500 0
= 12,750
& 12,750

308 AXIHSO0IA 25,500 25,500 0
= 12,750
S 12,750

01 XN B EES 25,500 25,500 0
OSEMHEY0E ALY DR 25,500
= 12,750
T 12,750

JEEMAZ (1) 97,879 120,180 22,301
Jl 96,972
= 907

308 AXIHMSOIA 97,879 120,180 A22,301
Jl 96,972
= 907

01 XN BSELES 97,879 120,180 A22,301
CEREREEIE 97,879
) 96,972
== 907

SEHEL0IS 2201 N8 (21) 77,000 77,000 0
2 72,000
= 5,000

307 lztol & 10,000 10,000 0
= 5,000
= 5,000

02 LB HAHE X 10,000 10,000 0
OsEHEEA0IS 2E2Y XY 10,000
= 5,000
= 5,000

308 AtAIEMSOIE 67,000 67,000 0
= 67,000

01 XN BSELES 67,000 67,000 0
OSEMYEANE 2EIIY X8 67,000
= 67,000

Noete sE2&(=1) 150,000 198,000 248,000
= 125,000
& 25,000

308 AXIMSOIA 150,000 198,000 48,000
= 125,000
= 25,000

01 HASHHBSEEXS 150,000 198,000 48,000
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A s
B AASENY HAG(SPHYL/ Y - 5E)
Hel: sE22D|E =5 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OXNGL? sE24L 150,000
= 125,000
== 25,000
SEASY o 40,015,440 36,933,300 3,082,140
= 3,063,540
= 34,106,000
== 2,855,900
e MsZE OtEesS)| 960,000 990,800 /30,800
403 AXIEHMSAH=0ld 960,000 960,000 0
01 AXISHHA 22 % 960,000 960,000 0
CofilE 25 A NE 960,000
sSENSNY =22 8,500 22,500 214,000
201 fer=3| 8,500 8,500 0
01 AtR2tc|Hl 8,500 8,500 0
OsZEXNANLME 2L 29 8,500
sESHXZEsH(LERT)(=1) 17,733,000 17,160,000 573,000
s 17,733,000
403 AXIEHMSA=01d 17,733,000 17,160,000 573,000
[ 17,733,000
01 AXISHHA =2 £ 17,733,000 17,160,000 573,000
OsESHASEHLBRIR) 17,733,000
= 17,733,000
HIOFE AHlA AHE =&(=12) 264,000 575,000 A311,000
= 264,000
403 AXIEHMSAH=201H 264,000 575,000 A311,000
[ 264,000
01 A= 2L 264,000 575,000 A311,000
OHIOF" MHIA HE &4 264,000
= 264,000
ANzodg2si(=1) 1,760,000 1,402,000 368,000
= 1,760,000
308 XM SOIE 1,760,000 1,402,000 368,000
[ 1,760,000
01 XN BSEES 1,760,000 1,402,000 358,000
OAN=ZHE L=t 1,760,000
[ 1,760,000
sE MEY ZAANS(21) 3,601,000 4,410,000 809,000
= 3,601,000
403 AXIEHHSA=201H 3,601,000 4,410,000 809,000
= 3,601,000
01 XM 22 % 3,601,000 4,410,000 809,000
Os& Mgy S 3,601,000
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N YYUSENL g sElLdsd/sY - 58)
el sEXS e (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| = 3,601,000
I=MENESL(=D) 10,208,000 8,864,000 1,344,000
[ 10,208,000
403 MR HHMSAH=01H 10,208,000 8,864,000 1,344,000
= 10,208,000
01 AXISHHA=2EXE 10,208,000 8,864,000 1,344,000
OJI=dEHEFY 10,208,000
s 10,208,000
OFSRHSII(EENY) 35,000 35,000
403 AXIEHHSA=201H 35,000 35,000
01 AXIEHM A= 2 £ 35,000 35,000
OnrESSI(BEMNY) 35,000
sSESSENMY 243 N¥(=1) 685,080 1,036,000 A350,920
= 342,540
< 342,540
307 el2tol & 685,080 1,036,000 A350,920
= 342,540
< 342,540
02 QIZHEHAEE X 685,080 1,036,000 A350,920
O=EssguY gdat X3 685,080
= 342,540
= 342,540
SERFAEES XAE-E5H(=1) 540,000 135,000 405,000
= 540,000
403 AXIEMSA=201E 540,000 135,000 405,000
[ 540,000
01 AXISHHA =2 & 540,000 135,000 405,000
OsERSAEEE NGEds 540,000
= 540,000
sSEIZ2E =HA X2 (21) 360,000 100,000 250,000
= 175,000
== 175,000
307 elztol & 350,000 60,000 290,000
= 175,000
< 175,000
02 2IZHBYAIHE A 350,000 60,000 290,000
Os&ESZ2HAE =8HMA X3 350,000
= 175,000
= 175,000
s2 - =& RE100 43X AFE(=12) 936,000 468,000 468,000
= 936,000
403 MR EHSAE01H 936,000 468,000 468,000
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A s31
&

B AASENY HAS(SPHYL/SY - 5E)
el sEXS e (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 936,000
01 AXISHHA= 2L 936,000 468,000 468,000
S8 - =& RE100 &S ArY 936,000
= 936,000
23 s&E0tE x4 1,334,860 1,650,000 A315,140
201 er23y| 16,700 0 16,700
01 AtR2t2|HI 16,700 0 16,700
ONZL 248 & 2012 MY 9,200
SEXNGHLAS HEG 7,500
202 04| 8,160 0 8,160
01 =LHO LI 8,160 0 8,160
ogd sZits g2 =4 8,160
308 XXM SOIA 210,000 150,000 60,000
01 XN BELES 210,000 150,000 60,000
SEO0tS 25 Z2HE 210,000
403 AXIEHMSA=0l1d 1,100,000 1,500,000 400,000
01 AXIHHA=2 22X 1,100,000 1,500,000 A400,000
OsE0ts 28 ZZ2HE 1,100,000
H#H sEESNEZL(2D) 1,600,000 0 1,600,000
= 1,600,000
403 MR HHMSAHE01H 1,600,000 0 1,600,000
= 1,600,000
01 AR A =2 £ 1,600,000 0 1,600,000
o3d sEZ=Aelxd 1,600,000
= 1,600,000
HY2EIHI(SEL) (OIEHIIE}) 62,396 59,634 2,762
Jl=3H| 62,3% 59,634 2,762
2A2g J1=3tl 62,3% 59,634 2,762
201 fer23| 40,736 39,342 1,3%
01 AtR2telHl 40,736 39,342 1,394
PN2E AR/ 40,736
202 04| 10,260 8,892 1,368
01 =LHOHI 10,260 8,892 1,368
FA2E U0 10,260
203 gF=4| 11,400 11,400
01 Jl2=2gdR=a] 6,600 6,600
o= 6,600
M A2 LRFAI 4,800 4,800 0
©302! Oolat 4,800
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